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In the ideal transformer circuit of Fig. 13.38, find V,, and the complex Practice Problem 13.8
power supplied by the source.
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Figure 13.38
For Practice Prob. 13.8.

Answer: 214.7/116.56° V, 4.293 /—26.56° kVA.

Practice Problem 13.9 Find V, in the circuit of Fig. 13.40.
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Figure 13.40
For Practice Prob. 13.9.

Answer: 96 V.




Obtain V; and V, in the circuit of Fig. 13.58 using PSpice. Practice Problem 13.14
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Figure 13.58
For Practice Prob. 13.14.

Answer: 138.82/28.65° V, 208.2/—151.4° V.
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Properties of the Laplace transform.

Laplace transform pairs.*

Property i0) 120 ) Fly)
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*Defined for t = 0; f(f) = 0, fort < 0.



